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• 𝑦𝑦 = 𝑎𝑎𝑥𝑥2 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐

• 𝑦𝑦′ = 2𝑎𝑎𝑎𝑎 + 𝑏𝑏 = 0 gir 𝑥𝑥0 = − 𝑏𝑏
2𝑎𝑎

𝑜𝑜𝑜𝑜

• 𝑦𝑦 𝑥𝑥0 = 𝑎𝑎 − 𝑏𝑏
2𝑎𝑎

2
+ 𝑏𝑏 − 𝑏𝑏

2𝑎𝑎
+ 𝑐𝑐 = 𝑏𝑏2

4𝑎𝑎
− 𝑏𝑏2

2𝑎𝑎
+ 𝑐𝑐 = 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎

• Ekstremalpunkt 𝑥𝑥0,𝑦𝑦0 = (− 𝑏𝑏
2𝑎𝑎

, 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎
)

• Hvis c varierer flyttes ekstremalpunktet opp og ned.



• Ekstremalpunkt 𝑥𝑥0,𝑦𝑦0 = − 𝑏𝑏
2𝑎𝑎

, 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎

• 𝑥𝑥0 = − 𝑏𝑏
2𝑎𝑎

og y0= 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎

• 𝑏𝑏 = −2𝑎𝑎𝑥𝑥0 og dermed y0= 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎
= 𝑐𝑐 − 4𝑎𝑎2𝑥𝑥02

4𝑎𝑎
= 𝑐𝑐 − 𝑎𝑎𝑥𝑥02

• 𝑎𝑎 = − 𝑏𝑏
2𝑥𝑥0

og dermed y0 = 𝑐𝑐 − 𝑏𝑏2

4𝑎𝑎
= 𝑐𝑐 − 𝑏𝑏2

4 − 𝑏𝑏
2𝑥𝑥0

= 𝑐𝑐 + 𝑏𝑏
2
𝑥𝑥0
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